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INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will themself be responsible for filling wrong
Roll No.

2. At the start of the examination before attempting the question
paper kindly check your question booklet and OMR Answer
Sheet and ensure that :

* The serial numbers of question booklet and OMR answer
sheet are same.

* All pages of question booklet and OMR answer sheet are
properly printed. All questions from S.No. 1 to last S.No.
150 are printed and pages from S.No. 1 to last S. No. 16
are there in the question booklet.

In case of any discrepancy / defect the candidate should

immediately report the matter to the invigilator for replacement

of question booklet and OMR answer sheet. No claim / objection
in this regard will be entertained after five minutes of start of
examination. Candidate will be liable for it.

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated

as Wrong answer.

Each question has four alternative responses marked seriallg

as (A), (B), (C), (D). You have to darken only one circleor

bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

There will be no negative marking for wrong answets

Use of Mobile Phone/Bluetooth Devices or any other

electronic gadget in the examination hall s strictly

prohibited. If any such prohibited material found with any
candidate, strict action will be taken against him/her as per
rule.

If there is any sort of ambiguity/mistake eithep of printing

or factual nature in Hindi and English Versiol of the

question, the English Version will be treated as standard.

Warning : If a candidate is found copying or ifany tnauthorized

material is found in his/her possession, F.I.R. wauld be lodged

against him/her in the Police Station and he/Skemswounld liable to
be prosecuted under Section 3 of the State Prevention of Unfair
means Act, 1992 and Board Regulations. Board'may also debar
him/her permanently from all future examinations of the Board.
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Rh factor is an antigen situated on the surface of

(A) White Blood Cells
(B) Red Blood Cells

(C) Platelets

(D) Lymphocytes

Rh ®T& UF Giqe & = 76
T T g #

(A) w99 wuT &

(B) @@ &UT Hw

(C) famy

(D) fermremza

CARIRE]

When in the system input, process and output are
known with certainly, such system is called :

(A) Open (B) Close

(C) Probabilistic (D) Deterministic

TG TH YO H 39, WEW 9 AEegE TEe d U
TE T 2, 98 TOTe dweernal &

(A) afue (B) ==

(C) | e (D) fradres

Choose the most appropriate technical translation
of the following word :

Circular
(A) dire (B} ¥
(C) ufwm (D) ifed

The area of an equilateral triangletis 253 em2,
then its perimeter is -
(A) 30 cm

S 50\6 cm

T FEETg B B e 2543 a2 ¥, da gEe
gfeamg & —
(A) 30 &

(C) 5043 &

(B) 50 em
(D) 60 cm

(B) 50 i
(D) 60 i

Rheumatoid arthritis is a/an disease.

(A) autoimmune (B) hypersensitive

(C) bacterial (D) fungal
HITS SEled U T E
(A) wmfafaa (B) ifoeasy
(C) rarivasm (D) was™
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The ditference between sugar molecules of DNA
and RNA is -

(A) absence of oxygen at 2-C

{B) presence of oxygen at 3-C

(C) absence of nitrogen at 3-C

(D) presence of nitrogen at 2-C

AU ot TRTAT. & 9Tk o F afdT & —
(A) 2-C TX SN & a9

(B) 3-C uX affege™ & sufefg

(C) 3-C WX SN & 9"

(D) 2-C WX AEgeH & sutyfd

Which of the following bird is linked with
phosphorus cycle?

{A) Guano (B) Kingfisher

{C) Pigeon (D) Humming bird
Frafafias & & @9 @1 9ell wlewE =6 B 0w
CEINEN
(&) T3l
(C) g

(B) femitReTe
(D) =T w2

Any kind of letter generally ends with :
(A) Salutation (B)Y Signature
(C) “Subscription (D) Heading

Which of the following is not one of Power Point
view?

{A) Slide show view (B) Slide view

(C) Presentation view (D) Outline view

=1 8 & B9 W aiauise g T R

(A) TS o = (B) wmEs =

(C) vsi=e™ & (D) HTSzTART &

The process in which a carbonate ore is heated
strongly in presence of limited air to convert it
into metal oxide is called -

(A) Roasting (B) Reduction

(C) Calcination (D) Smelting

ol ufsean foaad @z sraws 1 Oig sifemEs d
et b fora ary o) it sultef § gedr & 1 Rpan
ST %, HEA & —
(A) woi T

(C) Trema

(B) aroae
(D) W

In how many districts of Rajasthan Tribal Area
Development Scheme is being implemented?
T % fepae foal o STeidig & fasm wm @
W ST T BT
(A) 6

(C) 10

(B) 8
(D) 12
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Cinnamon is obtained tfrom which part of the plant?

(A) Root (B) Bark

(C) Leaf (D) Flower
SITA), UG b hE AT H UTd &l & 7
(A) =% (B) =

(C) o (D) o

Partisan elections for Panchayati Raj bodies was
recommended by -

(A) K. Santhanam Committee

(By Ashok Mehta Committee

(C) GV.K. Rao Committee

(D) Sadig Ali Committee

dargdr T Henal & 90 gee e @ egstarn
@ o

(A) %. durm @il

(B) a1eTies WeaT il

(C) i.di%. wa gy

(D) =g He |

7

If 0059:3, then tan® =7

gfe cos@=%, T tan6="?

(A) _\”’2‘32 (B) _\”’2‘“2

h

a b
O o © i

Charcoal is used to remove colouring,from pure
substance. It works by

(A) oxidation (B) redustion

(C) adsorption (D) bleaching

AR 316 TG § T e & o v e s
2| 9% 6 WM % BT R Bl 8 7

(A) affeRdTRTo (B) atvamE

(C) arfastoor (D) Tai=m

The monthly incomes of A and B are in the ratio
4:3. Each of them saves ¥ 600. If the ratio of
their expenditures is 3 : 2, then the monthly income
of B is -

A ToT B % A% @ A 423 1 AUE &) SA A
¥ g T 600 w=n B Al 39 5 e T = w@
&R 3 :2 =, @ B & Ak omd wrl -

(A) T 2,400 (B) ¥ 2.000

(C) ¥ 1,800 (D) T 3,600
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e s o wug-waEdT siglhs 7

(A) Tt (B) =spurfor

(C) arfirgst (D) @&

Famous painter Sahibdeen belongs to which school
of painting?

{A) Mewar (BY Marwar

(C) Dhundhar (D) Alwar

uftrg T wifseds foswar & fra 9@ &
TRIad ¥ 7
(A) Ha=
(C) ert

(B) #Hrars
(D) HeaT

Where is factory of Parle Biscuits located in
Rajasthan?

{A) Bhilwara (BY Bharatpur

{C)f Neemrana (D) Jaipur

e M fafiee ad) dal Rug 7

(A) NficTesT (B) #aqx

(C),, T (D) SEIT

The excavation work of Ahar was accomplished
under whose leadership?

(A) V.N. Misra (B) V.S5. Wakankar

(C) H.D. Sankalia (D) B.B. Lal

HTES 1 I0@T HE [6HE g H gEned g3 o1 ?
(A) duq. fysn (B) 9N.ud. dihuichi

(C) wa sl g (D) SLEn &

How many members are nominated by the
Governor in the Legislative Council of a State?
(A) 1/6 of the total membership

(B) 1/3 of the total membership

(C) 172 of the total membership

(D) 1/4 of the total membership

[T B T ! faee wiewg o Reae wew w9
ford =ma ¥ 7

(A) Te=dl @ Fa ge & 1/6

(B) Wawi & gw wem & 1/3

(C) wewdf & ga o &1 1/2

(D) Te=dl @ Fa qe & 1/4

The third highest peak of the Himalayas is -

(A) Makalu (BY Dhaulagiri
{C) Nanga Parbat (D) Nanda Devi
feriag & drall weifys SO 99 & -
(A) 7@ (B) dienfirdy
(C) = wEd (D) =1 &
[ Contd...
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Choose the correct alternative which can be
substituted for the given sentence :

The period of life in which a person is old and
weak

(A) Dotage
(CY Senility

(B) Impecility
() Superannuation

Structure of Xe F5+ ion is —

(A)
(B)

trigonal bipyramidal
square pyramidal
octahedral

(©)
(D) pentagonal
+

Xe Fy' o & §ta ¥ -
(A) P fEirhEm
(B) @ e

(C) Ir<ewhddig

(D) dEHIE

The bacteria E. Coli responsible for diarrhoea are:
(A) Gram positive  (B) Gram negative

(C) Gram neutral (D) Non invasive

T % v saerl €. @ e B E

(A) UM €THS (B) U™ *UITH®

(C) ™ ST (D) ¥ FTafda

Neha walked 5 km towards west from her school.
Then she turned to the right and walked 4 _km.
Again she turned right and walked 5 km. Invhich
direction she is going?

(A) North (B} South

(C) East (D) West

e 0 e § ufyew @ S S Tl 9wl gl ae
Tz T 3 gewl 4 Tl 9@l #1 g 9 @it el
et 5 Rl aedr &) 98 few fRem e wrE?

(A) I (B) afem

(C) 9= (D) uit=m

The first Lokayukta of Rajasthan wasy:
(A) LD. Dua (B} K.P.U, Megnon

(C) K.S. Sidhu (D) M.D. Kaurani
ST & Ugq dibigad o

(A) smEIN gaw (B) Harg. w4
(C) ®.ud. frg (D) THE, B

The time it takes a device to locate data and
instructions and make them available to CPU is
known as :

(A) Data speed (B) Clock speed

(C) Access time (D) Processing cycle
feargd g 321 ol sgay WALy, @ Suee A
W Tl §HY e §
(A) 321 Wi

(C) uadH 2EH

/\

(B) =wiw s
(D) wrafdT @ (cycle)
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In aquatic ecosystem, the limiting factor for
productivity is

{A) light (B) water

(C) air (D) soil

Tk g WG H, IAEshal & 4 &E
|

{(A) WehTaT (By &

(C) =g (D) Ta

How many minimum meetings of Gram Sabha are
compulsory in a year?

UM G B OF a9 H fpae] g Sos AEr § 7
(A) 2 (By 3

) 4 (D) 5

Choose the correct option.

Tenders should be written in a language that is -
(A) roundabout a lengthy

(B) dnformal

(C) stylish

(B) briefand to the point

A persontbuys pens at the rate of 11 pens in ¥ 10
and sellthem at the rate of 10 pens in ¥ 11. What
i8 his profit in percentage?

T 3 10% 1] 99 & =X ¥ 99 lEar & am
= I 11 % 1099 & 5T § gaar &1 IFH o qiae
o oy %7
(R) 9%
(C) 1%

(B) 10%
(D) 21%

Which of the following factors is not responsible
for governing the climate of Rajasthan?

(A) Temperature

(B) Distance from Sea

(C) Prevailing winds

{D) Rainfall being fairly uniform

g § § @9 W@ ®® TSR & Jaarg &l
i ®e & fog o T@F &7

(A) dEE

(B) @z & ¢

(C) wafdad ga

(D) awt @1 @9 faae

Transformation of input into output is performed
by -

(A) Peripherals

(B) UPS

(C) CPU

(D) The input-output unit

T ¥ ASeYe H uiteRy fred &0 B g 7
(A) e

(B) gdr.ua.

(C) @rdra.

(D) Yz — ASTPZ TS
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The value of 772641 is -
J772641 T HF E —

(A) 879 (B} 871
(C) 891 (D) 889
JEuEATTE qEATH -

(A) Towam (B) o
(C) = (D) w=ig

Lithium carbonate gives on heating —

(A) Li,0 & CO,  (B) LiO & CO,
(C) Li & CO, (D) Li, C & CO,
foftrem wrale w @ w I ¥ -

(A) Li,O 3t CO, (B) LiO it CO,
(C) Li 3w CO, (D) Li, C 3fX CO,

The beneficiary group of Rajasthan Shubh Shakti
Yojana is -

(A) Startup owners

(B) Street vendors

(Cy Women business persons

(D) Girls and women of labour family
TN g[Y 9T ST 61 ATHIT 998 & -
(A) WY s

(B) wpzury fehar

(C) wfEen =Ty

(D) st gf@ @ wsfral T Afean

‘Kailash Sankhala® was associated with -
(A) Snake conservation

(B) Bishnoi caste

(C) Tiger conservation

(D) Black deer conservation

AT WEAT TErad g -

(A) dna deg o

(B) fas=ig =iq @

(C) =9 HY&awW ¥

(D) ard fetor dem &

The lens formula in Cartesian coordinate system
is —
where, u# = object distance from optical center
v = image distance from optical center
1 = focus distance from optical center
HAE FEgi® aF § o9 & gH § -
T, u = TR hE & R @ gl
Vv = WeRNdTh hE § WA @ gl
[ = valid hE ¥ ®mE gl
1 1 1
(A 7=77%

1 1 1
© 737y
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By which other name is Tartai Mata known, whose
temple is located in Talwara (Banswara)?

(A) Gajylakshmi (B) Mahakali

{C) Tripura Sundari (D) Aawri Mata

TS AT T wiey qeerst (SiEasn) U fad g,
S fopm ot & o s o %7

(A) TomET (B) weramre

(C) Prga gl (D) Smerdt =

For what value of n, {x+4) is a factor of

(x” + a”) ?

{A) For all values of n

(B) Only for prime values of
(C) Only for even values of #
(D) Only for odd values of #

n%ﬁﬁﬂm%%q(x+a),(x”+an)iﬁr@{mﬂ@"€
eI

(AYWw(s vt 7= &% fam

(B), » % @had ITHNT AFT & AU

(@) » % %ad 99 AW & f@u

(D) # % %o fawq 7f % fou

Golden rice was produced to reduce the deficiency
of among people.

(A) Vitamin B, (B) Vitamin A

(C) Folic acid (D) Magnesium

B T B SAIEA AT o 1 FH B FH
HA o T TR T

(A) et &, (B) faefm ©w

(C) wifdier 3 (D) FNfargy

Under MNREGA, minimum days
employment is provided.

HAUT & st gtam fe T s W
weI fpan sfar 2

(A) 100 (B)y 120

(C) 130 (D) 150

Which one of the following is wrongly matched?
(A) Ren - Dariyavji

(B) Shahpura - Ramcharanji

(C) Khedapa - Ramdasji

(D) Singhthal - Harivanshji

Frafafed & & w9 @1 uH g™ Toq gatd g 7
(A) Y1 — sfegrasi

(B) 9MEYU — rHEIOTST

(C) @ — THarEs

(D) fhsuw — sfidomsh
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46

47

48

49

50

51

52

HVS2 |

Choose the correct indirect form of the given

sentence from the options given below :

She said, "We were thinking of selling the house

but we have decided not to".

(A) She said that they have been thinking of
selling the house but had decide not to.

(B) She said that they had been thinking of selling
the house but had decided not to.

(C) She said that they thought of selling the house

but decided not to.

(D) She said that they think of selling the house

but had decided not to.

Who is author of Amarkavya Vanshavali?
(A) Jeevadhar (B) lJagjivan Bhatt
(C) Sadashiv Bhatt (D) Ranchhod Bhatt

HATHT GIMEAT BT @R i & 7

(A) wErER (B) <TToiEw Wz
(C) weifda 73 (D) Tomis 9g
fre o o wE e o T B 7

(A) d97 - g (B) Tta — @mEd
(C) enfg — ureey (D) Tafe — wamar
HA A 9= 9 B 7

(A) Qgrad (B} wiig

(C) T& (D) s

A pair of genes with contrasting charactérs is
termed as :

(A) Homozygote (B) Genotype

(C) Heterozygote (D) Allele

fquda el At 9 % SIS ® wEd © .

(A) quag™=HA (B)y & wrew
(C) eyt (D) e

Choose the correct optiongfor the) Passive
construction.

Everyone calls him a peacemaker.

(A) A peacemaker he is called.

(BY He is called to be everyone's peacemaker.
(C) He is called a peacemaker.

(D) Everyone is called a peacemaker by him.

On March, 2022 Yogi Adityanath has been sworn
in as the Chief Minister of Uttar Pradesh for second
straight term. He is the C.M. of the state.
(A) 318 (B) 331

(C) 26t (D) 30t

e, 2022 ¥ I i g | WA g6 B %
foig S wdyr % HeaEs & w9 A vy @ 9 u™

& el €
(A) 314 (B} 33 &
() 294 (D) 30 9

/\
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A circle circumscribes a rectangle with sides
16 cm and 12 e¢m. What is the area of the circle?

(A) 961 cm? (B) 100w cm?

(C) 152n cm? (D) 1927 cm?

16 &1 7 12 A st aw fpedt oo % ufi: 1@
o dier T ¥ g9 B ashd = g 7

(A) 967 {2 (B) 100w ¥912

(C) 152n &l (D) 1927 I912

Example of logical operators is :
TTorehel GTTCEH & ITE 2
(A) > (B) +
(C) if (D) XOR

The median marks from the following cumulative
frequency curve is -

fr gad amafa @ @ Wit a7 -

______________

50

E 40

45 T 30 p---m--m- - - ;

= | 2041

% 10 '
0

No. otvStudents

10 20 30 40 50 60
Marks / 9T%Tics —=

(A) 25 (By 35

(C) 45 (D) 60
e ot # ‘wraETa® W@ E 7

(A) g (B) =l
(C) T (D) s
The birth place of Gogaji is

{A) Kolu (BY Kolayat
(C) Dadrewa (D) Mallani
TTTST T S W #)
(A) = (B) wremad
(C) =¥ (D) e

Which of the following is latitudinal extension of
Rajasthan?

(A) 23° 03' North and 30° 12' North

(B) 23° 03' North and 30° 12' South

(C) 23° 30' North and 30° 21' North

(D) 23° 30" South and 30° 12' South

= & & @9 w1 TR @ e fowa ® 7
(A) 23° 03' 397 ug 30° 12' 3¢

(B) 23° 03' wY ug 30° 12' sfém

(C) 23° 30 g9t ud 30° 21" 3=i¢

(D) 23° 30 =faror ua 30° 12' FH
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‘Mahi Kanchan® and ‘Mahi Dhaval® are the
varieties of which crop?

(A) Bajra (B) Jowar

(C) Maize (D) Gram

(A) =11 (By =X

(Cy Ham! (D) ==

Which of the following is India's first privately
developed Rocket?

(A) PSLV-XL

(BY Vikrant-S

(C) Vikram-S

(D) PSLV-G

frafataa & & wm @ wm # A oA 5
Tl e &7

(A) UlTguAd — THEUA

(B) fapid — wH

(C) Ty — uw

(D) duEeEr - i

grafter sz ® BE @ wEw &7
(A) wHER™ (B) =gaife
(C) s (D) faq

A narrow belt of pebbles deposited by rivers

parallel to the slopes of the Shivaliks is known as-
(A) Bhabar (B) Terai
(C) Bhangar (D) Kankar

fyrenteres T o gAEMET At 270 faorEr T Feiedn

e dl ug) Wl W ® -
(A) =T (B) g
(C) Wt (D) ikt

Under whose chairmanship was the ‘Mewar
Prajamandal founded in 19387

(A) Nayanu Ram Sharma

(B} Kapurchand Patni

(C) Jamnalal Bajaj

(D) Balwant Singh Mehta

YT WAMUSH i T fhoet afexerar § (938 #
g7

(A) oI gt

(B) wyTEE e

(C) SHATEE S

(D) wwea e dea

Reliance Industries Limited will develop India's
first Multi Model Logistic Park in -

(A) Gujarat (B) Karnataka

(CYy Tamil Nadu (D) Rajasthan

Rerdg gveedisr fdfvde gra TR &1 yem wedl wisa

wiild Tih H fasita feman wam)
(A) Torad (B) #FAH
(C) dlterrg (D) rste

/\
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In which state of India 68 Nehru Trophy Boat
Race was organised?

(A) Tamil Nadu (BY Kerala

{C) Karnataka (D) Andhra Pradesh

g & T T § 684t w2 W2 (Fe) W
AT W Mg v e

(A) dftrerTg (B) &t

(C) wArz® (D) HTY w9
The cube of 101 is -

101 & 9% & —

(A) 1020201 (B) 1030301
(C) 1040401 (D) 1050501

Who was the chairman of State Reorganization
Commission?

(A H."Kunzru (BY K. Panikkar

() Fazal"Ah (D) V. Patel
TG YAieT ST & Sieae i o7
(A) 3. 1% (B) %. UL
(@) wgier arell (D) 9. wem

Usage of Microsoft clip gallery :
(A) to add word art

(B) to spell check

(C) to add clip art pictures

{D) to remove slide

ArghiEe fRag Al @y
(A) a2 oM Ssa %

(B) @& 9% &1 & fou

(C) Treru arré ferad siigy & fou
(D) wge &l =M % Ty

is

BaCly(, ) + NaySO, ) — BaSO, (i) +2NaCl s

an example of

(A) Displacement reaction

(B) Double displacement reaction
(C) Decomposition reaction

(D) Combination reaction

BaCly, o)+ NaySO, 1, — BaSO, (JS,) +2NaCli,

U TEEAT F —

(A) e aifyfran &
(B) T& fawamaer arfispam ot
(C) Togsm artyfean =
(D) w=ew sfafem @
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In a row Roma is eighth from the left and Aman
is seventh from the right. When they interchanged
their places among themselves, then Aman becomes
eleventh from the right. Then what will be Roma's
position from the left?

(A) 10th (By 11t

(C) 12th (D) 13th

T it o T gl o § afTedl & T o STl A
H @mal £\ 99 g A9 H U1 W aiatid T e
£ dl & TRl SR & Tl B Sl B | a9 TH 6
W ol T § F1 OB ¢

(Ay 104t (B) 11ai

(C) 124t (D) 13 af

Which of the following is different from others?
(A) Cone (B} Circle

(C) Trangle (D) Square

e o & i | e | fee &7
(A) 1% (B} 99
(©) Brg= (D) =

Which colour of light deviates maximum in the
dispersion of white light by prism?

(A) Violet (B) Blue

(C) Green (D) Red

foro gr whe wener b fa@aer § yemet &1 HH gE
Ftemad faafera gfar 27
(A) 1

(C) =1

(B) fem
(D) @

The members of Legislative Council are appdinted
through -

(Iy Direct elections

(ITy Indirect elections

(I1T) Nomination

(A) (1) and (ID) (B)y (D), (1) and (III)

(Cy (11) and (III) (D) (1) and (I1)

fqam uftog & we=ni & 9@ e s & -

() v gE &
(1) sv@E TE o
(T11) < &

(A) () &frT (1)
(C) (1) iz (1)

(B) (1), (I1) &frT (11
(D) (D) s (11D

Fill in the blank with the correct option.
The teacher taught us that the ecarth
round.
(A) is
(C) was

/\

(B) were
(D) are

75

76

77

78

79

30

81

82

Choose the correct antonym of the following word
from the options given below :

Encourage

(A) aid (B) discourage
{(C) incite (D) persuade
‘YT STE G el WiE-{aeE & -
(A) 3 + qyo (B) &1 + T
(C) &g +uum (D) & + Tuw

Which blood type is a universal donor?
B W TR WhT MEHIHE ST B ¢
(A) O (B) OF

(C©) AB (D) AB*

HdEd % G99 UG W1 &1 B YHe HLT a1
TEET E —

(A) IS, BT I T

(B) STl &L 9T HaAT @ieA

(C), T § SIEL I qEIT

(D) WUE Ut BE T &

Which function is used to calculate remainder in
MS Excel?

Johet (Remainder) 37 & & fou m7 19 v |
I HT B YIR § od 8 ?

{A) DIV() (BY MOD()

(C) INT() (D) FACT()

What number must be added to each term of the
ratio 4 : 5 so that it may become equal to 5: 67
AT 4 1 5% Y US W & H Hedn Sl Sy qife
TE FAE 5: 6 % qAUEL B WY 7

(A) | B) 2

(C) 3 (D) 4

The range from the following, belonging to the
lesser Himalayas, is -

(A) Pir Panjal (B} Dhauladhar

{C) Mahabharat (D) Given all

Frefafeg ¥ & fre-foem @ w@efua e & -
(A) U e (B) si@memt

(C) HeMRd (D) f&d m |

If the volume of a right circular cone is 16 7 m?
and height is 12 m. The diameter of the base is -
(A) 4 m. (B) 2 m.

(C) 1 m. (D) = m

it U% TEgUE §F B A" 167 HP qA HER
12 dF | SHh AT BT A & —

(A) 4 9. (B) 2 4.

(C) 1 (D) = .
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is a process of translating a task into a
series of commands that a computer will use to
perform that task.

(A) System Design

(B) System Analysis

(C) Coding

(D) Maintenance

T B B AR B F@A T ATAR B
@ UF Uie F, T et o9 d1 @ w0 & g
I H|

(A) Towew f&=mgH

(B) faww fassiuw (ganfatas)

(C) it

(D) HfeAw (Tat@mE)

The rate at which information is transferred in a
communication channel -

(A) Baud rate (B} Bit rate

(C) Nano rate (D) Pixel rate
AFBL B TE HEY (A9E) 9T 99 % 3 (32)
FEATH & —
(A) =5 2
(C) =1 &

(B) faz =
(D) T 2

In order to get a diminished, virtual and erect
image, the object can be placed anywhere indront
of a mirror.

(A)
(B)

convex
concave

(C) plane

(D) either concave or convex

foelt axg (69) =1 orer, Wl 9 HiEn,ufdiae ard
BTG TE i a5 A o T
qepdT T

(A) w4

(B) aradel

(C) dwaw

(D) 41 @ Ead 91 I

Diamond is a -

(A) Allotrope of carbon
(B) TIsomer of carbon
(C) lsotope of carbon
(D) lIsochore of carbon
SIS ® -

(A) HET & AIEY

(B) ®EF H gHEEAl
(C) wrdd &1 g
(D) ®EA 1 FEATEAE

/\

87

38

89

90

91

92

In which of the following districts Maharao
Shekhaji Armed Force Training Academy is under
construction?

{A) Bikaner (B)y Churu

(C) Sikar (D) Ganganagar
Fratafad § @ fpw faw & werra gramh qerE 5@
Tt aemTEET Fratome % 7

(A) Farr (B) I=

(C) ¥t (D) T

‘USRS 9= & WU Uh gl aradisn ¥ —
(A) It & fim @&

(B) i g aw

(C) auaT ¥ 52 &M 9re

(D) ameEeT % Ay

From the top of a cliff 150 m high, the angle of
depression of two boats are 60° and 30°. What is
theddistance between the boats it the boats are on
the opposite sides of the clitf?

(A) 5053 m (B) 10043 m

(Q) 20043 m (D) 200 m

150 A0 &0 gz & oMY & & Arel &7 StawHe divl
60%%rar 30° ¥ | &t & Hew gl @ & Al e 9sE
% Tl fgam & 27

(A) 5043 = (B) 10043 #.

(C) 20043 T (D) 200 =

2024 Summer Olympic Games will be hosted by-
{A) Tokyo (B)Y Paris

(C) Moscow (D) Qatar

2024 % MBI ATTeeash Wall @ AATHI BT HT 7
(A) = (B) ufm

(C) wrehl (D) ¥

Population of a city is | crore. If number of live
birth is 85 thousand, the Birth rate is -

U §T6¢ Sl AEE | wUs ¢ af iaq =1 frgped
@ HET 85 TN ¥, 99 9 X & —

(A) 0.85 (B) 85

(C) 8.5 (D) 0.085

The Jain Granthas Harivansh Puran and
Kuvalyamala were composed during the reign of
Pratihar ruler
(A) Vatsaraj
(C) Mihir Bhoj

(B) Rambhadra
(D) Mahindrapal 1

e 9M8& % 9THA & H W Ty
YUV TE HAATHAT Bl T gAT|

(A) T (B) TH9E

(C) tfer s (D) HiEsuTa gom
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How many districts are desert districts in
Rajasthan?

ot & Foal § & feha fod ey €7
(A) 10 (B) 11
(€) 12 (D) 13

If in a code language CREW is written as 96 and
COURT is written as 154, then how will CRATE
be written in that language?

afe uw g W ¥ CREW &t 96 fomn smam & qan
COURT &1 154 fern sirar &, il o€t Wi § CRATE

%I Tre et for@m smom ¢
(A) 47 (B) 90
(C) 94 (D) 98

Which is the famous dance form of the Jaipur
Gharana?

(A) Odisi (B) Bharatnatyam
(C) Kathak (D) Kathakali
FEYL T B ARE T DI a1E 7

(A) enfssr (B) wXareaw
(C) oy (D) el

Which of the following igneous rocks are found
in Jalore?

(i) Gabbro

(ii) Granite

(iii) Rhyolite

(iv) Basalt

(A) (i) and (ii) (B} (i) and (ui)

(C) (i) and (iv) (D) (ipand (iv)

fFrife & & @ o 2rg gE STed g o § 7
(i) s

(ii) g

(iii) TEE

(iv) sHwe

(A) (i} (ii) (B) (ii) = (iii)
(C) (i) T (iv) (D) (1) = (iv)

Fill in the blank with appropriate determiner from
the options given below :

pen will do.
(A) Many (B) Any
(Cy Much (D) Enough

AN 10

99

100

101

98 A 14 years old student is not able to see clearly

the questions written on a black board placed at a
distance of 5 m from him. The student is suffering
from which defect and to correct vision of his
eves, what type of lens should he use?

(A) Myopia, Concave lens
(B) Myopia, Convex lens
(C) Hypermetropia, Concave lens
(D) Hypermetropia, Convex lens

T 14 79 F faEmedl sam vew u¥ T 3w ueAi @
5+ @1 g 9 9% 1 9% uw 5 | et e 1= d
H difed ¥ g 58 @ B B g B @ dg sugn
HET B ?

(A) Tbe gfe 3w, sgad oF

(B) f#e gfte v, sdw ow

(C) T 3fte 3w, sEda g

(D) TX g =W, 3aa «ig

What istfunction of Rural Non-Farm Development
Agency (RUDA)?

(A) To develop agriculture

(Bhn/lo develop Non-farm sector

(C) To develop educational institutions

() To provide electricity in villages

i gy faemma mibesTo (1) %1 = & &7
(A) P & TawE

(B) iy &= &1 faam

(C) Tyrem deemati &1 faem

(D) wrat o st -3ueied ol

In which city, ‘Invest Rajasthan Summit’ was
organised from 7-8 October 20227

(A) Jodhpur (B} Bikaner

(C) laipur (D) Kota

7-8 s1aeay 2022 &l fpg 98T § ‘TR TSR |iHe
1 A e e
(A) witage

(C) sAgX

(B) Sy
(D) ==t

With which folk art is Jankilal associated?
(A) Nautanki (B} Phad

(C) Tamasha (D) Baharupiva
A fhd e-—hal § wErad § ¢

(A) e (B) w3

(C) aHim (D) sgaltar
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Which of the following forts is awarded “Best
destination in India Silver Outlook Traveller Award,
202277

(A) Jaigarh (B} Hawamahal

(C) Kumbhalgarh (D) Ranthambore
frefataa feel & & 9 S e g9 s
fawt aeeq® At e@ls 20227 ¥ SETen T ?
(A) sOTg (B) zamMEw@

(C) FrawTe (D) Tmerie

Falku Bai of Kishangarh is associated with which
dance form ?

(A) Chakri Dance (B} Terahtali

(C) Kalbeliya (D) Chari
fepsrre o wo A fow Jo @ wafaa ¥ 7
(A) Tl 94 (B) dedmar

(C) ehreraferan (D) =
‘SUBORDINATE’ &1 f&=d1 ifenfves 1e & -
(A) afrss 9ol (B) arefres

(C) faa (D) wErEs®

Which of the following enzymes are called
‘molecular scissors’ in biotechnology?

(A) DNA ligase

(B) Polymerase

(C) Hydrolase

(D) Restriction enzyme

frrfafgd & & =9 &1 09EH ST gt 9 CSiES
T e €7

(A) SWAY wWEs

(B) di@ms

(C) eRg™

(D) wiesier damgn (Uigaem TomeH)

Which state sent military help forthe,assistance
of the Maharao of Kota in the freedom, striiggle of
18577

(A) Jaipur (B} Jodhpur

(Cy Udaipur (D) Karauli

1857 o =T €AW H B2l eI DI Hew@dT & Y
e T A e wEmET A2

(A) vyt (B) W

(C) I=agx (D) =

Where did Chief Minister Ashok Gehlot lay the
foundation stone of Dr. Bhimrao Ambedkar Law
University on 16 November, 20227

(A) Alwar (B)Y Jodhpur

(C) Bagru (D) Kishangarh

16 Faw=L, 2022 1 & w31 a1ie Tead

1. e amese fafy fataamea @ snamier
hEl 17
(A) orat o
(C) =16 o

/\

(B) wheqR o
(D) TpoTTTe ®

11

108

109

110

111

What should come next letter in the following
letter series?

frretferfia srerz Ao o SR stare 6 | s iy 7
K.L LM LN HOGP[]

(A) Q (B) R
(C) E (D) F

Who is widely regarded as the father of the India's
space programme?

(A) Dr. Homi Jahangir Bhabha

(B) Dr. Vikram Sarabhai

(C) Dr. A.PJ. Abdul Kalam

(D) Dr. Panchanan Maheshwari

YT % (el HEHH B TSN e’ S ¥ 7
(A) @inart sEif wrm

(B) =7. s
(CYNEl. wdis. e saH
(D), =1. TEEE TRy

Translate the following sentence into Hindi :
Women learn English faster than men.

(A) FEY IRal ¥ el el dEw )

(B) ofed goui § ST el oS diEdr §

(C) 3l &l J&uT & gopreret wea! i SraHT aiey |
(D) Y&ST @7 AfEeel ¥ Ued ST deHr ey |

There is a definite relationship between first two
problem figures. Based on same relationship
choose the correct answer figure.

THH T T TG % A U i g # |38
Y % STH UL Tl I AP H agT DI |

Problem Figures / @wn sricdl

Ot

M (I I (V)
Answer Figures / 5% sgfaai

/\ /X
() L)

?

(A) (B)

(©) (D)
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112 Guindy National Park is located at

(A) Bengaluru (B) Kolkata
(C) Chennai (D) Mumbai
TR U wEE ¥ ferd 7
(A) duegs (B) ableicbrcl
(C) = (D) 7=

113 ‘Chhappan Plain’ is situated in between -
(A) Banswara and Kushalgarh

(BY Banswara and Dungarpur

(C) Chittorgarh and Pratapgarh

(D) Pratapgarh and Banswara

oo w He Rea ¥ -

(A) sfgaTet St ForTe & 9™

(B) I@amst 3R RQY & I

(C) fadeTe @it yarwTe & 49

(D) WaTTTE IR FiEarsT % I

114 ‘HiYd 3 @ &1 aeg o fohar & —
(A) opHe fepam (B) weu® TR
(C) YEaiaes e (D) -reng feean

115
of population in 2011?

(A) 24™ Rank
(Cy 12'h Rank

(B) 27 Rank
(D) 8 Rank

291 Tl P THERAT Al 3T § T w1 20T S,

|l 4 &7
(A) 24 ai &9 (B) 27 =1 @8
(C) 123 %A (D) 8af wu
116 Find the missing number.
qd " T B
[N ] ~18 9. ] .14 25 % -
4 6 15
(A) 19 (By 20
(C) 22 (D) 24

117 Choose the cotrect preposition,
He took ages ________ the job.
(A) over (B) above
(C) beneath (D) of

/\
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Which is the rank of Rajasthan in India in tecns

118

119

120

121

12
122

12

Which is named as ‘Dhand’ in the Thar Desert ?
{A) Oasis

(B) Depression in crescent dune

{C) Artesian Basin

(D) Playa in desert

I WEEW H GlE & AW ° A9 S T & 7
(A) saiere

(B) T a1 w9 T

(C) s e

(D) w&we § EE

If the altitudes from two vertices of a trangle to
the opposite sides are equal, then the triangle is -
(A) right-angled (B) equilateral

(C) isosceles (D) scalene
e 9= & 2 ool & wog@ el X s ™ @
HE B/ AR § -
(A) EHHT

(C)y gisaTE

(B) wwemg
(D) fermsmg

1 .
If log,, X=7, then x is equal to -

Pl I0g27x=%, T x E ¥ -
(A) 3 B) 3
9 (D) 27

The ornament bajuband is worn on

(A) Chest (B) Arm

(C) Ankle (D) Waist
ET GTET _ F Rl o E
(A) Bt (B) g

(C) =z (D) =X

Geo-stationary satellite revolves at

(A) Any height

(B) Fixed height

(C) Any height above the poles

(D) Height which depends upon its mass
v-ReR IUUE A E -

(A) ferdl o S

(B) fiax ¥ ™

(C) gaf % Fm fadl S =

(D) o ol gegae i Bl a
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Who was declared the Indian Film Personality of
the year at IFFIl (International Film Festival of
India) 2022 held at Goa?

(A) Hema Malini (B} Chiranjeevi

(CY Prasoon Joshi (D) Manoj Bajpai

T AT A TR 6., (AR Ay
ftpe ToTeE) 2022 ¥ fopd o 1 wea e st
gifer fepan T ?
(A) &1 Hifer
(C) v seh

(B) fatand
(D) == S

In which district of Rajasthan factory of Havells
India is located?

(A) Alwar (B) Ajmer

(C) Kota (D) Jaipur

TR & foew foe & o e @t Tl fem &7
(A) @eEy (B) &R

(C) @ (D) Wy

Fatty liver is present in -
(A) Marasmus (B) Kwashiorkor

(CYy Scurvy (D) Pellagra

®e THd Tl & —

(A) @ T H (B) FEITER@®IT o
(C) whdl H (D) arm §

“Zero Hour” in Indian parliamentary systeni

implies the -

(A) time between question hour and next item oni

the agenda when the members raise any

matter without permission of the chair.

exact time when the question heur ends.

time allotted for informal discussionthetween

two stages of discussion gn_a billi

Specific time allotted fort%a, discussion on

budget.

AT & EE Joell H Q[ SNy 9l g e

(A) W BTl ST BRET BT A TS B Sd B
T WY GYE e B A % I B
fawg ger ¥

(B) @ 3% THT 9 U HIT GEN BT 5

(C) Fre fadas X ==t % 3 90 & S AT
=4 & fag emEfa w9

(D) afe g¥ =4t & oy emefen fafime o

(B)
(€)

(D)

friferd ® & fpH "X EIE (TE2) ® Wi
fepar ST B 7
(A) Ffaer
(C) etz

/\

(B) ufvas
(D) g

128

129

130

131

132

133

13

How much percent is 200 ml of 1 litre?
1 ferex a1 e wlasora 200 fiedt &7

(A) 0.2% (B) 2%

(C) 20% (D) 200%

Which one of the following trees is rich source of
gum in Rajasthan?

(A) Teak (BY Dhokra

(C) Salar (D) Khair

Friftea gaiil & 8 @9 w1 ga vsieE A il & frg
o= 'l § 7
(A) HTEE
(C) @

(B) et
(D) €T

The chairman or the member of Rajasthan Public
Service Commission can be removed earlier before
the completion of their tenure by -

(A) Governor (B} President

(C) g5tate Legislature (D) Chief Minister
TSI WIh,HeT 3TN & ST o1 §aW Bl BB
HrgHla ¥ go e a1 g2 o gt &7

(A) TeguIE =T (B) rsgufd g

(C) fagr w1 g (D) =9 W& 10

The first Chief of Defence Staff (CDS) of India,
General Bipin Rawat was posthumously conferred
with which award?

{A) Paramvir Chakra (B) Padma Bhushan

{C) Ashoka Chakra (D) Padma Vibhushan
HILd & W99 9I% 1% hHy =6 (CDS) e it
e Wl AN o §91 & ST fean T
(A) TEdR T (B) g

(C) st 9% (D) wgH Faqu

A sum of money doubles itself at compound
interest in 15 years. In how many years will it
become eight times?

T YT VYT Thghg S § 15 I § T 8 W g |
o awl o 98 o T w1 S 7

(A) 30 (B) 45

(C) 60 (D) 75

In which medical college of Rajasthan, Institute
of Paediatrics and Neonatology will be established?
(A) SN Medical College, Jodhpur

(B) SMS Medical College, Jaipur

(C) JK Lone Hospital, Kota

(D) JLN Medical College, Ajmer

T & fee dfsawa @fas ¥ fifsaricem ovs
Faim2idrel dem & wuar & s ?

(A) TH.UA. AiSHhA Hies, YT

(B) TH.UH.UH. Afsha wiaw, TAGL

(C) S1.%. @A sIeded, ®eT

(D) S .USA.UA, HiEHa wiee, TTHT
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An aggrieved person can file a writ petition for | 137

the violation of fundamental rights in :

(A) High Court only

(B) District Court only

(CYy Supreme Court only

(D) High Court or Supreme Court

i ATUH % &9 B I TWITaa St 14 A

YT BT THAT ©

(A) wad v= Ieg o

(B) haw Taem <maed o 138

(C) whad Iwaw <uEwg

(D) S=9 g A1 Swaqd gEed |

Chambal Project is a joint venture of states of :

(A) Rajasthan and Haryana

(B} Rajasthan and Punjab

(C) Rajasthan and Gujarat

(D) Rajasthan and Madhya Pradesh

aretet uleltnl Rt <ol o gad uldior 2, 3 3

(A) TeTEE ST ghamm

(B) RN & UeTg

(C) TeEM ST [Ed

(D) T 3 9T wEeT

139

Which is not a funciton of the Bureau of Public

Enterprises of Rajasthan?

(A) To issue guidelines to private enterprises in
Rajasthan.

(BY To monitor the functioning of all'state public
sector undertakings.

(CY To coordinate working of vasious state
enterprises.

(D) To serve as a clearing house for the collection
of information for all state public sector
undertakings.

TSR % TSI SUHT S B B o1 B Ta & 7

(A) oiear | Tl IushAT o fen—Fder 3=m) 140

(B) af giduiies &5 & SubHi & bl @ e
h{ATI

(C) wog & fafr= Qusedl & syl § gH-ay
h{ATI

(D) o9 % G HdWiTh & & IUHH b T gI
T HA o GHISTER T2 Frel Ja1 ST

VAN 14

Which Rawat (Noble) had given shelter to Bhimyji
Charan during the 1857 Revolt?

{A) Kesari Singh (BY Jodh Singh
{C) Ranjeet Singh (D) None of these

1857 % Tagie & 999 Hi9st 9w & f&9 TEg (Fe=)
o g Y7

(A) wEORE
(C) TriafdE

(B) whufds
(D) = § @ig e

Go through the following poem and answer the
question given below:

O Rose thou art sick,
The invisible worm,
That flies in the night
in the howling storm:
Has found out thy bed
of crimson joy:

Andyhis dark secret love
Does thy life destroy.

What does the 'worm' symbolize here?
{A) Secret love (B) Life and beauty
(€) Howling storm (D) Death and decay

'Indira Gandhi Urban Employment Guarantee
Scheme' of Rajasthan was launched on -

(A) 15 August, 2022

(B) 9™ September, 2022

(C) 8! November, 2022

(D) 18" November, 2022

Tt & g e ged TS M dieEnr a6l
Iy e Tep T 7

(A) 15 arte, 2022 &

(B) 9 faaray, 2022 @&l

(C) 8 7w, 2022 &

(D) 18 =, 2022 i

Which one of the following Samskaras is related
to birth?

{A) Bindoli (BY Mosar

{(C) Samela (D) Jadula

o 0 8 -1 der S g ddfrg B 7
(A) fearet (B) e

(C) wmmian (D) e
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141 The largest inhabited riverine island in the world | 146 VLOOKUP function used to :

is situated in the river - (A) Find related record
(A) Ganga (B) Indus (B) Looks up text that contain *V’
(CY Godawari (D) Brahmaputra (C) Check if two cells are identical
fryg mqe@ seT g e gy 94) (D) Find non related records
4 flae &) VLOOKUP %a#9M #rd il &
(A) i (B) fiyg (A) o qoig el gean
(C) Taradr (D) s@rg (B) @& 9= gedl & fH V' #
(C) = &8 & UHH THNAT & fU @ @
142 Ctrl + Y is used to : (D) <& fhew e ad e goar &
(A) Align a paragraph
(B) Close a document 147 Who among the following participants stood first
(C) Redo or repeat last action runner up in Femina Miss India 2022 Competition?
(D) Undo last action (A) Kanika Singh (B) Yamika Sain
Ctrl + Y 1 SGiFT fpar < & (C) Seeni Shetty (D) Rubal Shekhawat
(A) S T v B f e fir gfosan 2022 sl & Frffed & @

B | gleanlt w8 T 9 @ ?
(A) HFenl He (B) @iy &9
(C) Tasi, stedr (D) &=« srEmEd

(B) U% TEES @ €8 ®Hd & (WU
(C) oiftm fepen ot fdle o O & & o
(D) @ fFn gdaq &3 % fog
148 What i§ reason of frequent occurrence of drought
and, famine in Rajasthan?
(A) Deforestation

(B) Irrational use of water
{C) Soil erosion

143 Under which Article of the Indian Constitution
the Governor can reserve the bill passed by the
legislature for President's approval?

(A) Article 256 (B} Article 257
(C) Article 213 (D) Article 200 (D) Trregular rain
wfage & hH STEE ® ded (NOU U HISH TR ¥ AR—AT ST UE TE T HO 7

T i P frdkas o gt o R A TR o) it ) e

TG Tl § ! S
(A) argeE 256 (B) @gese 257 Eg ;gz S T
(C) org=g 213 (D) =5 200 (D) wifmfm i
144 Where is the fort of Achalgarlissituated? 149 Which place is famous for black pottery?
(A) Ajmer (B) Jalore (A) Jaipur (B) Banswara
(C) Mount Abu (D) Alwar (C) Sawai Madhopur (D) Chittorgarh
araerTe g el fd &7 HTER firdl % el % fog R e Wi B
(A) e (B) weire (A) s (B) wieensr
(C) Az oy (D) (€) ward welgr (D) Faheme
145 World's largest museum of Harappan culture is ‘ o 93
being setup in - 150 The average of 8 consecutive integers is =5 - What
(A) Lothal (B} Kalibanga is the average of first three integers?
(C) Banwali (D) Rakhigarhi . 23 .
TS FGET ST fea B FIE 991 gUEey T 8 AT U] B ohET - 1 gE A QR @
ELRC afred @ & 7
(A) «rgd o (B) wretEm § (A) 7 (B) 8
(C) wara § (D) T H (C) 9 (D) 10
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SPACE FOR ROUGH WORK / =g & & o1 S8

S T W I R € - g o @R T ofa, ofen T w oden we Sred § g wdenell s
T i QAT AT AR T |, Tt o i ufa @ eTer w8 Y | S 5 ST U
A Wid ST S19H W ST R, T Oid o e 9fd 9 e ARA | O1g R eI gaeh 3TenT Y giemel
G | el i vl A e Wy @ SE
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